CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - SURA MATHS (TAMIL)

Model Paper 4

Exercise

1. A={(z,y):y=€"2zcR LoMMLD

B={(z,y):y=e—z,z € R 6160116V,

n(A N B) er601LIG)|


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EEXsX6u0cULe

B.O
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D. 2

Answer: C

o Watch Video Solution
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2. er6Tm SIL 65T OIEF&HLD
1 —2sinx L U

A. ( — oo, —1)U<%,oo>


https://dl.doubtnut.com/l/_EEXsX6u0cULe
https://dl.doubtnut.com/l/_PvaiotjiecUF

B. (-1, frac{1{3})

C. [-1, frac{1{3}]

Answer: D

o Watch Video Solution

A.16

B.18


https://dl.doubtnut.com/l/_PvaiotjiecUF
https://dl.doubtnut.com/l/_aod47vF86iXb

C.9

D. 12

Answer: B

o Watch Video Solution

4. Uetteu(meuesteumnlev

&60T6mM GG IT6) 6lFILIS:

Azd+3z2+22+1

B. (2> + 2z + 1) (z + 4)

ClUNMIHHSMS


https://dl.doubtnut.com/l/_aod47vF86iXb
https://dl.doubtnut.com/l/_kP1dw62XzXZR

C.z?>+ 5z +6

D.(x + 2)(z + 3)(z + 4)

Answer: C

o Watch Video Solution

5L V3
" cos 80° sin80°

A /2
B./3

C.2


https://dl.doubtnut.com/l/_kP1dw62XzXZR
https://dl.doubtnut.com/l/_JQmjAbHct0sb

D.4

Answer: D

o Watch Video Solution
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2w 4
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https://dl.doubtnut.com/l/_JQmjAbHct0sb
https://dl.doubtnut.com/l/_sjDSFDSiw6YS
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D.A e6l60TLIg| HUMMGLD R 6160TLIG)]

2 600160 LOWIM(GLD.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sjDSFDSiw6YS
https://dl.doubtnut.com/l/_LKpuhgnAdXZ0

7. 6T6V6VITLD 6M6MI) 6T650TSH6MMTHS bl HM6ToTL

5 Q6V55 616501&H611160T 61600160011 H6DI5

A. 25

B. 5°

D. 625

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LKpuhgnAdXZ0

8. @ (h H6HFI6V 2 66T 10 LeiTeril&erilev 4
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Sl6UMenmbl&mesot(h 2 ([h6UM&(GLD
(L &H G M6ToTMRISH61T 65T 61650165011 56018

A. 110

B. " 10C;

C.120

D. 116

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XfprDci4i3Ej

9. r - 607 6T6V6VIT LOGILILI&GLD ~ nCiy >" C,

6760116V N-66T LD LIL|

A.10

B. 21

C.19

D. 20

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XfprDci4i3Ej
https://dl.doubtnut.com/l/_84fbaGBJvr8q

10. y = x eledtm G&HMLlgMm(@& (2, 3) eredrm
Lemerflullest LNbut L eierf]

A. (-3,-2)

B. (-3, 2)

C.(-2,-3)

D.(3,2)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_A4nXaMX0KGvv
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A. (i)-FT, (ii)-@, (iii)-=b , (iv)- S

B. (i)-&, (ii)-FF, (iii)-9b , (iv)-SH

C. (i)-ob, (ii)-o, (iii)-Fr, (iv)-Q

D. (i)-3, (ii)-FF, (iii)-SH, (iv)-Q


https://dl.doubtnut.com/l/_lH5oiucLkc6X

Answer: A

° Watch Video Solution
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12. -6 33—« 3 =0
3 3 —6—c
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https://dl.doubtnut.com/l/_lH5oiucLkc6X
https://dl.doubtnut.com/l/_WKDzbkDY5KsA

Answer: C

o Watch Video Solution

1B. &b (P&6oaTeoIgdlest  Qresoi(h
(LpemestLiLeiTerll&eril6sT MHlemev 6leusL [786iT
37 + 47 — 4k LDMHM)LD 21 + 35 + 4k
e LWEHEHM(H FHalullest mMemev bleusbL Iy
i + 27 + 3k etevflev, ELPETTMTEUG] (LDEMEDTL]

Li6TTerflwilesT mhlemev GleusL (.

A —2i — j+ 9


https://dl.doubtnut.com/l/_WKDzbkDY5KsA
https://dl.doubtnut.com/l/_YikJzeYZYHu3

B.—2i — j — 6k
C.2i — 7 + 6k

D.—2i + j + 6k

Answer: A

o Watch Video Solution

14, |d| =13,[b| =5 wHQD @ b = 60°

s ‘ e
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A.15


https://dl.doubtnut.com/l/_YikJzeYZYHu3
https://dl.doubtnut.com/l/_tdG08u3hGlyf

B.35

C.45

D. 25

Answer: D

° Watch Video Solution

15. lim |z] =

r—3

A.2

B.3


https://dl.doubtnut.com/l/_tdG08u3hGlyf
https://dl.doubtnut.com/l/_2FWoFtuL6vKd

C. LDILIL Q6v6DI6V

D.O

Answer: C

o Watch Video Solution

3x 0<z<l1
16. f(z) = S '
6. /(@) {—3x—|—5 | <z <2 OOV,

A lim f(z) =1

rz—1

B. lim f(z) =3

r—1

C. im f(z) =2

r—1


https://dl.doubtnut.com/l/_2FWoFtuL6vKd
https://dl.doubtnut.com/l/_agPMTCz5P70z

D. lim f(z)@Qe6vemev

r—1

Answer: D

O Watch Video Solution

17. x=3-6v f(z) = z|z|-601 euemSBWIL 660
DG LIL

A.6

B.-6

C. BlemL&&LI6ILIMME|


https://dl.doubtnut.com/l/_agPMTCz5P70z
https://dl.doubtnut.com/l/_wmkaGQnhDSoz

D.O

Answer: A

° Watch Video Solution

T + 2

Ve 1

A V22— 1 2logle + V2 — 1] +c
B.sin~ ! e — 2log|e + v/2% — 1] +c
C.2loglz + /22 — 1| —sin 1z +c
D. /22 — 1+ 2log|e + /22 — 1| + ¢

18. dr =



https://dl.doubtnut.com/l/_wmkaGQnhDSoz
https://dl.doubtnut.com/l/_7iFspiFRbLlp

Answer: D

o Watch Video Solution

19. 6luM@psHLMHM Qemevotenl Ggije
Cl&l&.

AA  LOMMIID B 660T6DNN)  6260TM)]
6vl6V&(GLD H &LD6Y &61T-
P(ANB) = P(A) + P(B)
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P(AN B) = P(A)P(B)


https://dl.doubtnut.com/l/_7iFspiFRbLlp
https://dl.doubtnut.com/l/_283yZh2gSxjw
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A B
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Answer: D

° Watch Video Solution

20. A LLMMILD B Sh&lW Q(H HSHLDFEIG6I
A C B ommiib P(B) # 0 eteot Q(HLILNeor

LIl 6160 (IH 61 68T6U MM |6TT 618 | 6l LOULILITEBTS |?


https://dl.doubtnut.com/l/_283yZh2gSxjw
https://dl.doubtnut.com/l/_cudunBqyrKyE
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Answer: C

o Watch Video Solution

21. m(A N B) = 3wmmibn(A U B) = 10

eresilev,n(P(A A B) &M66615

’ ° Watch Video Solution


https://dl.doubtnut.com/l/_cudunBqyrKyE
https://dl.doubtnut.com/l/_t3eEKUDlYEpB

22. 560115,8) (1) HEOT(G GUEDTUWIM|SHSLILIL L
Q76v01(h VISG)(LP MIT 6T680TSH6T 2_6TTETTEBTEU T
eT6oilev, Sieuadl(h &G (LPMT 6T650T1SH6MT 60T
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o Watch Video Solution
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12010 &MMmeeleTen (Lp&HCSHMETTID  6llq6l

LMl &Ten)6) 6ULq6U6MLDEHS


https://dl.doubtnut.com/l/_t3eEKUDlYEpB
https://dl.doubtnut.com/l/_NiImc3VxGrPl
https://dl.doubtnut.com/l/_VgvsBH27VeRl
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° Watch Video Solution

24.1,2,3,4,5 61651 Q6VHSMHISHED6IT ) (THLIL
eunng (WPemmuilev LIwetTLI(h&8) 615860601
QuessiG - QeuEs  ETEBuIHED6I

2 _(MHeUM&HGH6VMLD?

o Watch Video Solution



https://dl.doubtnut.com/l/_VgvsBH27VeRl
https://dl.doubtnut.com/l/_IAyph8w16XLm

25. DS LILI6060TSH SHIMT60015. 6!

o Watch Video Solution

26. SIMPLE e6T60Tm eUMj&Henngullev 2 6fTerT
SED6ETIHG)| 61(L0 &G |6M6TULD Iy ChT5 &6V
Lwestl (h & &) 618560607 Ihilaok:;

LOITM M Bl S60)V61T 2_(hH6UMESHEVMLD?

o Watch Video Solution



https://dl.doubtnut.com/l/_WobDQ4b0O8mE
https://dl.doubtnut.com/l/_FXFwf90zGVtc

27 3% gt seoLd Qnesoi(®

Q660G MIHED6TE HIT6O0T.

O Watch Video Solution

28.2, 2, 4, 4, 6, 6, ..6T60TM 6IGHML (e MUilesT

neuUg)| & MILIL| &HM600IS.

o Watch Video Solution



https://dl.doubtnut.com/l/_kivz9Yrvr0Zx
https://dl.doubtnut.com/l/_9SbCRo3er7KK

29, 5x-4y+3=0 61601 GC&HML_LgM (S
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616015 6l & MesoTL GCrHT&HGHML_Lq 66T

FLOGOTLIML_60)L_& &HIT60015h.

° Watch Video Solution

30.7Z6V "m-n 9h601G| 7 Shev 6U(GLI(H 6lLDévileu
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GUEDITWINM|SHSHLILILL M6V R 6T65TLIG)| &FLDMTEOTE)

615 MLIjL] 61601 Hlemh L&

l o Watch Video Solution


https://dl.doubtnut.com/l/_rI9vm1H2fuWL
https://dl.doubtnut.com/l/_pKgn4hzPHZdr
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31. T oeing 6T60TM) gL eot
G &G0 85 SHM60015.
O Watch Video Solution
32.
16 25 81
log2 + (1610g)ﬁ + (1210g)ﬂ + (710g)% =

61607 [H1 )61 5.

° Watch Video Solution

1


https://dl.doubtnut.com/l/_pKgn4hzPHZdr
https://dl.doubtnut.com/l/_9El4UW28rlyX
https://dl.doubtnut.com/l/_TyGz0iTxdnd3
https://dl.doubtnut.com/l/_mcYcecxnk6vQ

33. eeubleunetim|b  100D&) L6 LI6BOTSET
6l & MeBoTL BLIML_MI&6TTl6V
oglL6lLesoigerilest  FOMEH  90S16v6VG)|
SAFHMGLD Coev QUbHTEV D ASH(SLD.
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o Watch Video Solution



https://dl.doubtnut.com/l/_mcYcecxnk6vQ

sin B c — acos B
sinC b— acosC

6160T

34. AABC @év

HM 6.

° Watch Video Solution

35. 6Ihg cwpeotm| UeTerflaEnd 66l
C&IML_Lq6V SI60)LOWIMTGEU M| 15
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o Watch Video Solution



https://dl.doubtnut.com/l/_V0AAi23EoGOW
https://dl.doubtnut.com/l/_x4x8IOOxaWkr
https://dl.doubtnut.com/l/_Nb5wghnGe0MF

36. 6 (h (&(Lp&l6v 2 6fTerT 10 MHLI&6TTI6V 69 (IhH
&H6Em6VET] LDMM|LD 69 (H ClgWe6vI] 2 66L&
6 HLITHED6T 61dgement eulplaerflev G iyey

Gl&UIW6VMLD?

o Watch Video Solution

37. n ®@H Wlemd (P 616881 LMMID r
6160TLIG| (BHEOMWMM (LP(LD 616801  6T6v1l6Y,
(14 z)" -eo1 ailflallev z" LHMID =" "
2 MIULIS6TeT  6l&H(D&HS&HET SO 61607

Hlm |6 5.

. I


https://dl.doubtnut.com/l/_Nb5wghnGe0MF
https://dl.doubtnut.com/l/_8y9umRyh3hLd

[ @ \Watch vVideo Solution ]

38. D)L ILI& ST65018. 99°

o Watch Video Solution

3
39. Nl fleyi (55515 (2:1;2 - E)

L

o Watch Video Solution

40. Glgsotemeotuiley 2 66 D& 60T

56050155 6V "THL_LJ" 6 (Ih GLDIM60TE)


https://dl.doubtnut.com/l/_8y9umRyh3hLd
https://dl.doubtnut.com/l/_EjrK5JUxPy82
https://dl.doubtnut.com/l/_RqENdry3mXsM
https://dl.doubtnut.com/l/_YxR0vGuwy7vj

6l SMLIJLIEOI)| 6T60TLIENS, H CMH LI &5

o Watch Video Solution

41. 3z° + 82> + 8z + a 6T60TM LIGVEY|M|LILI&
Comemeuullsst e(H Smyevoll x4z + 1

6160116V, a-60T LOG L16DILI& SHT6T0TS.

° Watch Video Solution

3(x—2)  5(2—=x)

42, 5176\ SHITETTIS i < 3

o Watch Video Solution



https://dl.doubtnut.com/l/_YxR0vGuwy7vj
https://dl.doubtnut.com/l/_hLIXIg1Rewaq
https://dl.doubtnut.com/l/_mOsaNVCjXOMh
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43. 376\ SM6TOTS :

o Watch Video Solution

44, tan’0 = 1 — k’e160fl6V
3
secf + tan> 0 cos ec) = (2 — k2) 2 6T60T

mHnies. God Qeumemm mHenmey

6lgWWLD k Q65T DG LI6DILIE SHT6TT5.

° Watch Video Solution



https://dl.doubtnut.com/l/_mOsaNVCjXOMh
https://dl.doubtnut.com/l/_vxT4v7LC6nLJ
https://dl.doubtnut.com/l/_XbGUKltS6XaB
https://dl.doubtnut.com/l/_bJUK4tYROQtu

45. A ABC@6v a = 4,b— 6mmiide = 8

6160116V 4 cos B + 3 cos C = 261601& SMevorLi

o Watch Video Solution

46. n-60T LD L16D)LL SIM65015

(n+1)! =20(n — 1)!

o Watch Video Solution

47. FUNNY e6T60TMm eUMygenguilev 2 efTer

TSI  allflens  LIHMSHSIMES


https://dl.doubtnut.com/l/_bJUK4tYROQtu
https://dl.doubtnut.com/l/_FdlZI7xBLesh
https://dl.doubtnut.com/l/_TY7JWEe1CHKK
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° Watch Video Solution
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X ) 3 14+«
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2
Hlm |6 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_TY7JWEe1CHKK
https://dl.doubtnut.com/l/_zN30DQELyS1F
https://dl.doubtnut.com/l/_dr7JuATXbRSe

49. &(H eumISluilev 6lgaYHHLILILL T 500
Shevlgl, 10% OHML] Ul lg eigssev, 10

Sh6601(h 861116V 6T616L6TEUMTE LD |LD.

° Watch Video Solution
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o Watch Video Solution



https://dl.doubtnut.com/l/_dr7JuATXbRSe
https://dl.doubtnut.com/l/_kzsdF7bc3Coi

51. 922 — 24zy + 16y*> — 12z + 16y — 12 =0
6160TLI G | 2 60)600TU M60T Qe
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&S0 GHE SHIT6T015.

° Watch Video Solution
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https://dl.doubtnut.com/l/_kzsdF7bc3Coi
https://dl.doubtnut.com/l/_x6u3tangLIoX
https://dl.doubtnut.com/l/_gr1IpRlSh25Z
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° Watch Video Solution
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